o
[N

<0 > (rad)
o
o [
[ [¢)]

.........

.........

........

........

.......

.......

.....................

.....................

R

[ i

1 2 3
TP n (PCA to beamline)

o
[N

o
N

< o cot(y) >
o
=
a1

.........

.........

...................................

..............

..................

-1 0 1 2 3
TP n (PCA to beamline)

<4

MKEIT_T1base
mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mkFit_TT_baseline_6iter
mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD

(23 e ]
o O

< 00, > (M)
D
o

20

100r

.........

.........

.........

............

............

............

I

-1

i
0

TP n (PCA to beamline)

1 2

<0 / > (Y
PP, > (Y0)
O = N W N O

Ratio

........

........

........

..........

<

..........

...........

|
QO[T

-1

0

TP n (PCA to beamline)

1 2

=10

0,

.........

.........

.........

..........

..........

..........

+
s

D | R

MR

| B N R
TP n (PCA to beamline)



	Contents
	Page 1


